IR Hr (R DOHIFIEEE)

TIAREE
20204£3 H 17 H

1 BM

ZROPNFN BB A o 7R T 21T,
R @ MASS /v r— 12 qda(), predict.qda() 2% %,

2 (ERE

import sys
sys.path.append("statlib")
from multi import quad_disc

quad_disc(data, make_dummy=False, verbose=True)
A8 o f k]

import sys
sys.path.append("statlib™)
from multi import quad_disc_plot

gt3_plot(obj, axl=1, ax2=2, color="black", color2="blue", alpha=0.5)

2.1 5I¥
data T—58 7L —h (REBEINDHEZRTLEE)
make_dummy 5 I = BB BN GAICE True Z18E T %, 7 7 4V b id False
verbose HEERNRO 7)) v PR T 5
ax1 Ml & 2RO /RS
ax2 fiehhic & 2 RDES
color v—27 0t (77 4V MER)
color2 2= 27N 2 XFH oM (77 4V P )
alpha TN 7F v (577 4L i 0.5)

22 RO{EDHAF

"groupmeans" DL DFME



"groupvars" VA e A e
"groupinvvars” I & Do - ST AT

"scores" MR a7
"pvalues" p &
"predict" IS SR
"correcttable"  HIFIHLEHEE
"correctrate" 1EHRIR
"vname" FHAZE D 4411

3 fERSI

import pandas as pd

data = pd.read_csv("data/iris.csv")
import sys
sys.path.append("statlib™)

from multi import quad_disc

a = quad_disc(data)

group means

sl SwW pl pw
sp
setosa 5.006 3.428 1.462 0.246
versicolor 5.936 2.770 4.260 1.326
virginica 6.588 2.974 5.552 2.026
result

prediction setosa versicolor virginica

Sp

setosa 50 0 0
versicolor 0 47

virginica 0 0 50

correct rate = 98.0 %

import numpy as np
from multi import quad_disc_plot

quad_disc_plot(a, label=False, color=np.repeat(["red", "blue", '"green

"1, 50))
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BEZ & o FEME
a["groupmeans"]
array([[5.006, 3.428, 1.462, 0.246],
[5.936, 2.77 , 4.26 , 1.326],
[6.588, 2.974, 5.552, 2.026]])
B2 L Do - o EAT
a["groupvars"]
array([[[0.12424898, 0.09921633, 0.0163551 , 0.01033061],
[0.09921633, 0.1436898 , 0.01169796, 0.00929796],
[0.0163551 , 0.01169796, 0.03015918, 0.00606939],
[0.01033061, 0.00929796, 0.00606939, 0.01110612]],
[[0.26643265, 0.08518367, 0©.18289796, 0.05577959],
[0.08518367, 0.09846939, 0.08265306, 0.04120408],
[0.18289796, 0.08265306, 0.22081633, 0.07310204],
[0.05577959, 0.04120408, 0.07310204, 0.03910612]],
[[0.40434286, 0.09376327, 0.3032898 , 0.04909388],
[0.09376327, 0.10400408, 0.07137959, 0.04762857],
[0.3032898 , 0.07137959, 0.30458776, 0.04882449],



[0.04909388, 0.04762857, 0.04882449, 0.07543265]111)

BES & D53 - ST TAI AT

a["groupinvvars"]

array([[[ 18.94343879, -12.40482616, -4.50020654, -4.77612733],
[-12.40482616, 15.57054017, 1.11107914, -2.10409783],
[ -4.50020654, 1.11107914, 38.77620413, -17.9350353 1],
[ -4.77612733, -2.10409783, -17.9350353 , 106.04590614]],
[[ 9.508276377, -3.67621661, -8.63171191, 6.45450344],
[ -3.67621661, 19.71096643, 2.1160224 , -19.4803247 ],
[ -8.63171191, 2.1160224 , 19.80375773, -26.93722701],
[ 6.45450344, -19.4803247 , -26.93722701, 87.24479383]],
[[ 10.5338668 , -3.47972624, -9.96014594, 1.78815223],
[ -3.47972624, 15.87544225, 1.1026887 , -8.47285053],
[ -9.96014594, 1.1026887 , 13.40582053, -2.89091847],
[ 1.78815223, -8.47285053, -2.89091847, 19.31405035]11]1)

HHNA a7

a["scores"][0:10, :]

array([[ 0.44911379, 114.80448926, 182.9359087 1,
[ 2.08109416, 83.31536333, 153.97494977],
[ 1.28433511, 94.92042508, 160.49414815],
[ 1.70620698, 82.77879889, 140.64139404],
[ 0.76168538, 120.48102441, 184.03694564],
[ 3.71264736, 120.4800689 , 183.29808569],
[ 3.42419613, 96.0034728 , 154.01866346],
[ 0.34343924, 103.81486506, 167.44412555],
[ 2.9964765 , 73.9469893 , 132.76555812],
[ 3.20008592, 93.49589445, 156.73861306]])

p &

a["pvalues"][0:10, :]

array([[9.78261918e-01, 6.86991632e-24, 1.74567505e-38],
[7.20846451e-01, 3.45379036e-17, 2.86278901e-32],
[8.64027652e-01, 1.18488690e-19, 1.14537123e-33],
[7.89589812e-01, 4.48817183e-17, 2.05742920e-29],
[9.43509606e-01, 4.21615702e-25, 1.01263801e-38],
[4.46289110e-01, 4.21813888e-25, 1.45937653e-38],




[4.89497690e-01, 6.97143576e-20, 2.80168131e-32],
[9.86840168e-01, 1.51497396e-21, 3.69799777e-35],
[5.58415223e-01, 3.32732990e-15, 9.97411287e-28],
[5.24917069e-01, 2.38001221e-19, 7.31636239e-33]11)

FIBIRE R

a["predict"][0:10]

['setosa',
'setosa’,
'setosa’,
'setosa’,
'setosa’,
'setosa’,
'setosa’,
'setosa’,
'setosa’,

'setosa']

HIBIHE A

a["correcttable"]

prediction setosa versicolor virginica

sp

setosa 50 0 0

versicolor 0 47

virginica 0 0 50
RRIGIES

a["correctrate"]

98.0



